20.2 | can perform dilations.

Scale Factor
1. Circle whether the following situations are REDUCTIONS OR ENLARGEMENTS.

a) Scale Factor of 1.7 _ '
(pre-image : image) b) DO%\(H) =H

e —
Reduction or { Enlargement: Reduction
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Reduction orf;gnlargeme

) D(),l,?s(A):A' e} Scale Factor of 3:2 " DOE(G):Gr

{pre-image : image)
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m) For problem j above, if the scale factor is 2, what is the similarity ratio, pre-image : image? } . 1~
n} For prablem h above, if the scale factor is %, what is the similarity ratio, pre-image : image? . | |

p) For problem i above, if the scale factor is e what is the similarity ratio, pre-image : image? %',
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a} For problem g above, the scale factor is .75 =uj§ N BD=8,thenB'D'= 2 . HB'C'=3,thenB( = Lﬂ\
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2. Dilations create figures that are =) rwt Yoy . which means their corresponding angles are

and their corresponding sides are N AN S
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3. Answer the following questions about the dilation, centered at O.

a} Is this an enlargement or a reduction? (AR
Explain how you determined your answer.

\e

N

b} What scale factor do you think this is? 6

Explain how you determined your answer.
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¢} What angle is the same size as ZOBA?
Explain how you determined your answer.
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4. Answer the following questions about the dilation centered at O with a scale factor of 3.
OA=3,0B=5andAB=4

a} A’B’

bjoB'=_ NS

¢) QA = ‘é’-

AN = 0 {be careful)

e} BB = (be careful) e A
(0,

f} What is the ratic of OA : QA'? sy g

L‘ .

g} What is the ratio of OA : AA'?




